Subnetting 
Group Exercise
The following network address was assigned to your organization:  200.100.50.0.  However, you decided that you needed to break it into 4 subnets. 

1. How many bits would you have to borrow to create 4 subnets?_________

2. How many of those subnets would be usable? ___________________

3. How many hosts per subnet would you have? __________________

4. How many of those hosts would be usable per subnet? ________________

5. Complete the following table.

	
	What is the # of network bits?
	What is the number of subnet bits?
	What is the number of host bits

	Before Subnetting
	
	
	

	After Subnetting
	
	
	


6. List all 4 subnets:
	Subnet #
	Subnet ID
	First Aval. Address`
	Last Aval. Address
	Broadcast Address

	0
	
	
	
	

	1
	
	
	
	

	2
	
	
	
	

	3
	
	
	
	


7. What is the default subnet mask for a class C Network?  ____________________

8. What is the subnet mask now after subnetting? _______________________

9. What is the default bit mask now after subnetting?_______________________

10. What is the subnet ID and the broadcast address of the subnet where host 200.100.50.135 resides? Even though that the answer to question number 10 can be extracted from the table above, please answer the question using the Logical And function

a. Subnet ID:_____________________________________

b. Broadcast Address: ______________________________
